
https://www.geekcert.com/3100-1.html
2024 Latest geekcert 3100.1 PDF and VCE dumps Download

 

 

 

3100.1Q&As

Avaya Aura Communication Manager Administration Exam

Pass Avaya 3100.1 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/3100-1.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Avaya
Official Exam Center

 

 

Latest 3100.1 Dumps | 3100.1 Study Guide | 3100.1 Exam Questions                                1 / 4

https://www.geekcert.com/3100-1.html
https://www.geekcert.com/3100-1.html
https://www.geekcert.com/3100-1.html


https://www.geekcert.com/3100-1.html
2024 Latest geekcert 3100.1 PDF and VCE dumps Download

QUESTION 1

Consider the settings shown in exhibit displayed by using the display route ?pattern command. You must deny calls
from users in COR 10 to use route pattern 1. What should the fault restriction level (FRL) for COR 10 be? 

A. 2 

B. 3 

C. 4 

D. 5 

E. 6 

Correct Answer: A 

 

 

QUESTION 2

When adding an IP Station type 96xx, which statement is true regarding the port field? 

A. It is automatically populated by the system as "IP". 

B. It must be populated as "SOOOXX" 

C. It must be populated with an available port on an MM712 or TN2214 

D. It must be populated with an available port on the LAN switch. 

Correct Answer: D 
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QUESTION 3

Your customer has a communication Manager 6.0 branch location with SIP endpoints that need to survive a WAN
failure when communication to the core or main Session Manager is unavailable. Which solution will provide survivability
to the remote location? 

A. an S8300 configured as an local survivable processor (LSP) 

B. a simplex server configured as an enterprise survivable server (ESS) 

C. an S8300 or simplex server configured as a Survivable Remote 

D. an S8300 01 simplex server configured for high availability (HA) 

Correct Answer: C 

 

QUESTION 4

Security Violation show valid and invalid attempts to access the system using three types of codes. In addition to station
security codes, which two types of codes are measured in security Violation reports? (Choose two) 

A. barrier codes 

B. access security gateway (ASG) codes 

C. dial access codes (DAC) 

D. authorization codes 

E. administrative login codes 

Correct Answer: AD 

 

 

QUESTION 5

You must verify in a production system that the number of rings between each point for coverage paths is two rings. You
access the system-parameters coverage-forwarding from and check that the value for the local coverage Subsequent 

Redirection/ CFWD No Answer interval field is set to 2. 

Which users will be affected by this setting? 

A. users belonging to a specific COR 

B. users belonging to a specific COS 

C. users belonging to a specific COS-group 

D. all users in the system 

Correct Answer: D 
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